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20 9] 1200 & 4 #n 6 (LboIEe #%)38m05
3[10] 654F &' 6 (WAY2=7-5%)36m17
40 1] 2595 & # 4 6 (TAVF/)AE4E) 31m60
505] 1197 & & = 6 (LbZiFk-#%)31m49
60 2] 141 1 #j 2 6 CERIEH] r-%5%) 30m66

7031 13f0dk g 45 (HEV==7kE4E) 2975
8111  THAE ma v 6 (FEV==TELHE) 28m49
9012] 665 iy AL &4 (WAY2=75%)22m79
100 6] 670 14 |2k 4 (WEY2=74%) 19m31

1w w5 (LbZEL-HE) 12m72

110 8] 11811 I5
[ 7] 2903 50 e 6 (RUN.|p &%) RiB

NER 4m20 +1.0

— O NN PO SHXCIOOOR~OCIOONO W

IS 1Y



EB37E EOE/NMNEEEL) S TERRKE AR
EE oz
95 TR BEAR 4% |6& |6& 4% |68 |68 [He [He  [He  [Hue  [Hue |45 |54 |64 |44 |58 |64  [Ha e e |He  [He &t
80m | 100m | 100m | 800m | 1000m| 1000m| 80H | &k | &8sk [V vA®| UL — | 80m [ 100m | 100m [ 800m [ 1000m|[1000m| 80H | &k | mEfedk | vrrer| UL —
1 | EBSa=F7ELSIST tEBYaz7 2 5 4 5 15 19 11 9 8 5 8 6 7 8 8 3 8 131
9 |LbIIXEELSST LoliEe 8 1 3 3 7 20 9 5 2 11 11 3 83
30 |RUN,jp RUN,jp 16 20 15 1 52
29 |THhEFYXTRY—rI5DT THhEvXAC 3 14 1 4 10 7 2 3 44
10 | FTEERET PTEERET 3 3 6 8 5 1 8 7 41
43 |FEBEr—aSC EFRETSC 8 3 15 8 6 40
32 |fERELE BREL 8 7 6 17 1 39
23 |FiREFR FTREFR 6 4 9 2 5 3 25 3 4 385
13 |[Z74MIRELESST T74 Rl 2 15 10 4 31
17 |\ EMSa=7ELIST Emoa=7 1 12 12 5 30
35 |NVE—=ELHST NvE—= 6 7 6 1 9 29
31 | REAEERELSST REEE 8 2 2 7 6 2 27
14 |NBZ>=299357 JIBRC 15 4 6 25
41 |Bloom PJT BloomPJT 3 5 3 7 2 2 22
5 |[MMAY1=TFKELIST MBS 2=7 2 8 1 2 6 19
25 |HEv37 WEo>7 8 1 8 17
36 |Evolution Track Club EVOT.C 7 5 12
7 |EATkELEE EAELEHE 1 5 4 10
21 [N <hi5o=05495T [RAJIWRC 3 2 2 1 2 10
34 | FRRTVUNST FES.C 1 4 5 10
2 WREFRTAR)—NIFT WRZEFAC 10 10
26 |FALTAVRDA=FHELHFT | FTALTA4ORE 25 5 15
2 |\ BEMTALFYIIST EHAC 7 7
1 [ERERS21=TH5T SE A FERJIr 4 3 7
33 |BIETRLTAUR 95T HESEAC 7 7
39 |RRIYLFELITTU=UH 45T |SPC RC 7 7
37 |cheese cheese 6 6
6 Ea=7HELIST ABEDAZT 4 4
20 PS> =2595T ¥ILRC 4 4
22 |B=ZEELFEA BEFEEL 4 4
4 \WFoZHSTEF WFo>ZEF 3 3
12 |HHRILEE ERR—Y D ER HANLREE 3 3
38 |EiferAC EiferAC 3 3
45 |KIMS>=25957 KJM.RC 3 3
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